DOUBLE BED

H38 x W14/ x D202cm

INSTRUCTION MANUAL

IMPORTANT: Please read these instructions before using the product and retain for future use.
HHGL Limited, MK9 1BA
HHGL (ROI) Limited, DO2 X576



ASSEMBLY INSTRUCTIONS

PLEASE CHECK THAT YOU HAVE ALL THE PARTS LISTED BEFORE YOU START ASSEMBLY. IF YOU DO FIND THAT
SOMETHING IS MISSING DO NOT CONTINUE ASSEMBLY AND CONTACT YOUR LOCAL STORE.

. Parts: Fittings:

No. | Description Qty No. | Description Qty
1 Headboard X 1 A Bolts A M8*30MM D)) X 12
2 Footboard X1 B Bolts B M8*35MM X 4
3 Sideboard X 2 & Bolts C M8*50MM X4
4 Wooden foot X 4 B Nut M3 X4
5 Metal vertical bar X1 = Spring washer X 8
6 Metal feet X 2 2 Washer X 12
7 Plastic cap for two sides X 12 G Allen key X
8 Plastic cap for one side X 24 H Hex wrench X1
9 Wooden slats X 24

Step 2

ASSEMBLY COMPLETE



